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QUESTION 1

What is true about crash dump configuration?

A. The minfree value can be to protect a percentage of available disk space.
B. The default size of the dump device is configurable.

C. You can use one ZFS volume for both swap and dump.

D. You can set quota on a ZFS dump device.

E. When set on the dump device, the minfree value sets the total size of the dump device to be a percentage of the total
size of the root pool.

Correct Answer: C

QUESTION 2

Which option describes how to revert a service back to a previous version?
A. Issue the svccfg delcust command.

B. Issue the revetsnap command.

C. Issue the restore_repository command.

D. Issue the svccfg revert command.

Correct Answer: A

QUESTION 3

Changes were made to the application/pkg/server:default service when an administrator made modifications to add a
local package repository. Which command should be used to identify the changes that were made to the
application/pkg/ server:.default service?

A. svcs | application/pkg/server:default

B. svcs vx application/pkg/server:default

C. svccfg s application/pkg/server listprop

D. svccfg s application/pkg/server:default listcust L

E. svccfg s application/pkg/server listpg

Correct Answer: D
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QUESTION 4

You detected a failure of net0 in the IPMP group named ipsl. The server hosting the failed NIC supports dynamic
reconfiguration. Which statement is true regarding the replacement of the hardware interface?

A. The NIC must be replaced with an identical physical interface card type.
B. The NIC will be configured after replacement with the dladm command.
C. The devfsadm command will be used to discover the replacement NIC.
D. The replacement NIC must occupy the same bus slot as the original NIC .

Correct Answer: B

QUESTION 5

Choose two true statements regarding signed IPS packages.

A. A signature takes the form of an action statement in a manifest.
B. A package can be signed before adding it to a repository.

C. A package manifest may contain more than one signature.

D. Only one organization can apply signatures to a given package.

Correct Answer: AC
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